ERk29FE (4188 EIRIANR—E (B1BBE) assussonss
(1) EaLAE R fass A5 (2) EARIKE B as A% (@) MARLKE  MEess A
t ® = x 2 6 6 12/|[& wm x =10 |l =T m x = 1 1
N om B Ok %2 15 1 16/|R ® X & Xx 2 3 3l 2 x % 3 3
t % # % B Kk % 26 2 28/ ® = m ox 2 18 | 18lmm e x F ok 2 2 2
= W T x = 10 11|l # @8 B x 2 5 5l % — % x = |5 5
£ R T % x % 5 sll= & x =12 2l om0 ox = i
R ollm = 3 x = 87 1 e8llw s x % 2 2
T 6l ®m x = 3 3 elw @ x = 2 2
R allt 2 = x 2| 41 Mllx = x £ x = 3 3
£ % ® u x % 5 5[ ® = x =105 6/111|lm m  x 2 2 2
ko T kK K% 2 ol & m ® x = 2 olle =2 x 2 3 3
% # k2 10 |1o|%x ® & E m x = 18 | 8/|x w x = 3 4 7
£ = x = 4 1 5|t &8 oM 2 x 26l 263w % &£ F x ¥ i
W o k2 4 1] 5|kt m s owow oKk 2 2 olle = ® # x 2 | i
S e = @ < & x = 2 1 21|/|=k = 2 2 x =2 2 2
5 m X = 2 1 3|t ® & =8 x 2 8 1 9[x = x = 41 5
B 0B X % 11l & = x = 9o 110la & x =2 3 1 4
S s e s 2umx=2 3 g ®  x % 4 4
@ K % 1 1]|e » w15 1 16/lm o ox = 1 1] 2
P 1 & 422 16438|lm B o= om ox o= i
m oW k% 11 oz m x = 1 1 2
T 1 5) BEAREETR W@ eszaH| (2 R I X Kk 2 2 2
E 2 B K % N leseemres s 9 ollg ® = = x = 1 i
B ow & F KX % 5 5l lmEnimEssm e 4 allm W ox o2 2 2
s 8 x B X % 3 mumnwEEEM e 4 dlz & om0 x o2 1 i
BE R T K TR 2 2 o [mHRamEHEEESE 2 ol & x = 3 3
Mo m oz X % 1 1 2|lsErwuzmsEEeR 2 ollx ® & & x % i
2 & x 2 1|1 o|wrEmsnssEEsr e » e 10| 2| 12
% o w5 1 6|z ® 6 6| |a # 60 15| 75
& # 122] 20 142| |& # 28] o 28
(4) BAEMAS | @ ses aH| | (6) TOMSMEBER |BE awx A (7) BB Rass a5t
rmERmETRAAE 12] 1] 13][2 # o2 ol ® = = o= i
kEAEETEMALH 1 1 AT BA —BREB 2 2
% » ft 0 " EE TR LR i
& # 13 1) 14 " EE R 1
a i B 1
& # 6 o 6




